E=MC2
אלגוריתם הקיום הפרטי מאפשר ליש שני מצבים בעומק – חופשי וחסום (יש שאינו יכול לנוע מכיוון שיש אחרים חוסמים אותו בתאים הסמוכים על פי החוק השלישי – חוק אי המיזוג). 
יש חופשי = שינוי (אנרגיה). מסומן ביחידות Exfr 
(חיבור של תחיליות המילים (Existence + free
יש חסום בתוך המערכת = מסה = שינוי פוטנציאלי (אנרגיה פוטנציאלית). מסומן ביחידות Exob (חיבור של תחיליות המילים Existence + obstruction).
מספר היש הכללי במערכת (חסום + חופשי) מסומן ביחידות Ex.
פוטנציאל השינוי המקסימלי של מערכת = השינוי הפוטנציאלי (היש החסומים=המסה) + השינוי (היש החופשיים).
על פי אלגוריתם הקיום הפרטי (החוקים השביעי, השמיני והעשירי), אם היש לא חסום, הוא בהכרח נע בין התאים ויוצר שינוי. לכן, כל חסימה (מסה) שמתפרקת הופכת בהכרח לשינוי (אנרגיה). 
ולהפך, כל תבנית של יש חופשיים שתיצור חסימה בתוך המערכת – תהפוך שינוי (אנרגיה) לחסימה (מסה).
אנרגיה היא פוטנציאל המסה כפי שמסה היא פוטנציאל האנרגיה. 
כמות החסימות נמדדת במספר הפעמים שיש לא נע ממקומו במרחב-עומק נתון. היחידות שלה הן ob (קיצור של המילה obstruction). צריך לשים לב להבחנה בין כמות החסימות ובין כמות היש החסומים. אלו שני מושגים שונים. יש אחד יכול להיות חסום מספר פעמים במרחב עומק נתון. לכן, מספר החסימות בדרך כלל גדול יותר ממספר היש החסומים. היש החסומים הם המסה ולא מספר החסימות. 
השינוי (האנרגיה) נמדד במספר השינויים תחלופות של תווך-יש במרחב עומק נתונים. היחידות שלו הן ch (קיצור של המילה change).
דוגמה לחישוב מערכת עם שינוי (אנרגיה) טהור – 

מספר היש החופשיים: 5Exfr 
מספר היש החסומים = 0Exob
רזולוציה = R(10) 
מספר התורים בעומק שמכילה יחידת הזמן של הצופה: 10tu
מספר התאים במרחב שמכילה יחידת הזמן הנמדדת: 10cl
(הסבר: החוק השישי – סימטריית מרחב-עומק - מחייב שברזולציה 10 כל תא דמיוני יהיה למעשה כיווץ של 10 תאים בעומק ו-10 תאים במרחב. )
מה השינוי (אנרגיה) של המערכת ?
 = 5Exfr*10*10  ch500
כלומר ביחידת זמן אחת של הצופה (שמהווה 10 תורים אובייקטיבים של המערכת) אירעו במערכת 500 שינויים (תחלופות של יש-תווך בתאים).
הסבר:
ניקח לדוג' משחק שבו בכל תור כל חייל זז 10 משבצות.
כמה משבצות יזוזו 5 חיילים ב-10 תורות ?
500 משבצות. 
זאת כמובן בהנחה שאף חייל לא חסם חייל אחר. 
החיילים הם היש. המשבצות הן התאים. 10 המשבצות שחייל זז בתור מייצגות את רזולוציית המרחב ו-10 התורים מייצגים את רזולוציית העומק. 
ברזולוציית היסוד מהירות זמן התגובה של התא היא תא אחד בתור אחד – 1. ליש חופשי אין אפשרות לנוע במהירות נמוכה מזו. ברזולוציה היסוד המהירות המקסימלית האפשרית והיחידה היא 1. 
מהירות התגובה של תא דמיוני (המורכב משני תאים פיסיים) ברזולוציית R(2) תהיה שני תאים בשני תורים. זאת מכיוון שהיש צריך לעבור שני תאים פיסיים כדי לעבור תא דמיוני אחד ב-R(2). ברזולוציה זו המהירות המקסימלית האפשרית עדין תהיה 1 אבל תתאפשר גם מהירות 0.5 במצב בו היש נכנס לאחד מהתאים ומתעכב בשל חסימה תור אחד בתא השני. 
באותו אופן מהירות התגובה של תא דמיוני ברזולוציית R(10) תהיה עשרה תאים בעשרה תורים. גם ברזולוציית R(10) המהירות המקסימלית תהיה 1 אבל יתאפשרו גם מהירות המהוות עשירית ממהירות זו כמו מהירות 0.1 (במצב שבו יש עיכוב בשל חסימה ב-9 תאים) או מהירות 0.7 (במצב שבו יש עיכוב בשל חסימה ב-3 תאים). 
לשם הנוחות וכדי שהמהירויות לא יוצגו כשברים, הפיסיקה הבינארית קובעת שרירותית שהמהירות המקסימלית בכל רזולוציה היא שוות ערך לרמת הרזולוציה. לדוג' ב-R(10) נקבע שהמהירות המקסימלי האפשרית תהיה 10 ואז מתאפשרות 10 מהירויות שונות (בתלות במספר התאים החסומים בתוך התא הדימיוני במצבים של חסימה) - 1,2,3,4,5,6,7,8,9,10.... 
אין שום בעיה עם קביעה זו, שכן, אין כל משמעות לערך של המהירות המקסימלית האפשרית, למעט שהוא מהווה נקודת ייחוס למהירות פחותות ממנו...
ברזולציית מערכות האנוש R(h), המהירות המקסימלית במצב שבו אין חסימה (יש אנרגיה טהורה), היא c, מהירות האור. אם נתרגם זאת לפיסיקה בינארית אז המהירות המקסימלית האפשרית שווה לרזולוציה ולכן R(h)=R(c). c  זו המהירות המקסימלית שבה חלקיק דמיוני יכול לנוע מתא דמיוני אחד למשנהו ברזולוציה זו. תא דימיוני אחד ברזולוציית R(h), מורכב מכמות אדירה של תאים פיסיים ברזולוציית היסוד. לכן, עקב חסימות (בתוך התאים הפיסיים שמכיל התא הדמיוני), מתאפשרות רמות רבות של מהירויות שהן נמוכות מהמהירות המקסימלית האפשרית, אבל כמובן שאין אפשרות לנוע במהירות גבוהה ממהירות זו. 
על פי החוק השישי (זמן סימטריית מרחב-עומק) כל תנועה של יש במרחב מחייבת גם תנועה סימולטנית שלו בעומק. לכן, גם מספר התורים שיעברו במעבר של החלקיק מתא דמיוני אחד למשנהו, בהכרח, תיהיה c.  
ברזולוציית R(h) יוצאת מכך הנוסחה הבאה - 
השינוי (האנרגיה) = מספר היש החופשיים * c (מהירות זמן התגובה של התא הדמיוני במרחב במושגים של R(h)) * c (מהירות זמן התגובה של התא בעומק הדמיוני במושגים של R(h) )
Change (energy)=Exfr*c2
הבהרה: אני אומר שינוי אחד במרחב בכל תור למרות שיש שלושה ממדי מרחב. זאת מכיוון שעל פי אלגוריתם הקיום הפרטי שלנו היש יכול לנוע בכל תור להתקדם תא אחד בעומק ולהתקדם רק תא אחד במרחב (לא משנה באיזה כיוון). אין בתור אחד שלושה שינויים בממדי המרחב אלא שינוי אחד בלבד. 
דוגמה לחישוב מערכת המכילה חסימה (מסה) לצד שינוי  - 

מספר היש הכללי (חופשיים וחסומים): 6Ex
רזולוציה = R(10) (כלומר כל תא דמיוני מכיל 10 תאים במרחב ו-10 תורים (תאים) בעומק)
השינוי  (אנרגיה) שנמדד במערכת = 200ch
מה החסימה, מספר היש החסומים (מסה), של המערכת ?
ראשית נידרש לחשב את פוטנציאל השינוי המקסימלי של המערכת אם הייתה ללא חסימה (מסה), קרי הייתה שינוי טהור (אנרגיה טהורה). נעשה זאת כפי שראינו בדוגמה הקודמת. 
 = 6ex*10*10  ch600
השינוי הנמדד על פי הנתון הוא 200ch. מכיוון שכל יש שלא זז הוא חסום, כמות החסימות שהיו במערכת היא 400ob. 
כדי לזהות את מספר היש שהיו חסומים ומהווים את המסה, יש לחלק את כמות החסימות במספר התאים במרחב ברזולוציה הנתונה (10) ולחלק שוב במספר התורים (התאים) בעומק (10) ואז נקבל 4Exob. כלומר חסימה (מסה) של 4 יש במערכת. המסה היא מספר היש החסומים בתוך המערכת (חסימה פנימית) ברזולוציה נתונה. 
ראינו, שאם לא רוצים למדוד את כמות החסימות ישירות, ניתן לחשב אותן מתוך הפער בין השינוי הפוטנציאלי המקסימלי הנגזר מכמות השינויים במערכת במצב שאין חסימות ובין כמות השינויים שנמדדו בפועל. 
כלומר על פי מספר השינויים (אנרגיה) ומספר היש במערכת נוכל לדעת מה המסה שלה. 
המרת מלאה של חסימה (מסה) לשינוי (אנרגיה)

חסימה (מסה) = 4Exob
רזולוציה = R(10) (כלומר כל תא דמיוני מכיל 10 תאים במרחב ו-10 תאים בעומק (10 תורים))
מספר התורים בעומק שמכילה יחידת הזמן של הצופה: 10tu
מספר התאים שמכילה יחידת הזמן הנמדדת: 10cl
(הסבר: החוק השישי – זמן סימטריית מרחב-עומק - מחייב שברזולציה 10 כל תא דמיוני יהיה למעשה כיווץ של 10 תאים בעומק ו-10 תאים במרחב. )
שינוי (אנרגיה) = חסימה (מסה) * מהירות התגובה של התא המדומיין במרחב * מהירות זמן התגובה של התא המדומיין בעומק
Change (energy) = Exob * 10 * 10 = 400ch
למעשה כאשר נפתחת החסימה כל היש החסומים הופכים לחופשיים ומתחילים לנוע. ברזולוציית היסוד כל יש חופשי נע תא אחד בתור אחד. ברזולוציה R(10) כל יש נע בכל תור 10 תאים וב-10 תורים, שהם תור אחד דמיוני ברזולוציה זו הוא מבצע 100 שינויים. 
כפי שראינו קודם לכן, ברזולוציית R(h) יוצאת מכך הנוסחה הבאה - 
השינוי (האנרגיה) = מספר היש החסומים * c (מהירות זמן התגובה של התא הדמיוני במרחב במושגים של R(h)) * c (מהירות זמן התגובה של התא בעומק הדמיוני במושגים של R(h) )
Change (energy)=Exob*c2
ולמעשה קיבלנו את נוסחתו המפורסמת של אינשטיין: 
E=m c2
E= MC2
The private Existence Algorithm allows for Existence to have two states in depth—free and bound (Existence that  cannot move due to other Existences obstructing it in the neighboring cells, in accordance with the Third  Law—the  Law of Non-Mixing).

Free Existence = Change  (Energy). This is  indicated by the units  Exfr

(A contraction of  the beginnings of the words “Existence” + “free”)

Existence that is obstructed  within the  system = mass =  potential  change (potential  energy). This is  indicated by the units Exob 
(A  contraction  of the beginnings of the words  "Existence" + "Obstruction").
The overall number of Existence in the system (obstructed + free)  is indicated by the units Ex.
The maximal potential for change  in the  system = potential change  (Obstructed Existence = the  mass) + change  (Free Existence)

According to the private Existence Algorithm (The Seventh, Eight, and Tenth Laws), if Existence is not obstructed, it must move between the cells and create change. Therefore, any obstruction (mass) that decays must convert to change (energy).

And conversely, any pattern of free Existence that forms an obstruction within the system – will convert change (energy) into obstruction (mass).

Energy is the potential of mass, just as mass is the potential of energy.
The quantity of obstructions is measured by the number of times that Existence moves from its place in a given space-depth. Its units are ob (an abbreviation of the word “obstruction”). We must note the distinction between the  quantity of obstructions and the quantity of Existence that is obstructed. These are two distinct concepts. One Existence can be  obstructed a number of times in a given space-depth. Therefore, in general, the number of obstructions is greater than the number of obstructed Existences. The obstructed Existences  are the mass, and not the number of obstructions.
Change (energy) is measured by the number of changes and substitutions of Placeholder-Existence in a given space-depth. Its  units  are ch (an abbreviation of the word “change”).

An  example  of calculating  a system with pure change (energy):

The number of free Existences: 5 Exfr

The number of obstructed Existences: 0 Exob

Resolution: R(10)

The number of turns in depth that contain the unit of time of the observer: 10 tu

The number of cells in space that contain the measured unit of time: 10 cl

(Explanation: The Sixth Law (Symmetry of Space-Depth) requires that at resolution 10 any imaginary cell will in essence be a contraction of 10 cells in depth and 10 cells in space.)

What is the change (energy) of the system?

5 Exfr*10*10 = 500 ch

That is, in one unit of time of the observer (which constitutes 10 objective turns of the system), 500 changes occurred in  the system (substitutions of Existence-Placeholder in the cells)

Explanation: We can take, for example, a game in which in each turn, each piece moves 10  squares.
How many squares will 5  players move in 10 turns?

500 squares.

This is of course assuming that no piece obstructs another piece.

The pieces are Existence. The squares are cells. 10 squares that a piece moves in a turn represent the resolution of space, and 10 turns represent the resolution in depth.

At the Fundamental Resolution, the speed of the reaction time of the cell is one cell in one turn—1. For a free Existence, there is no possibility of moving at a lower speed than this. At the Fundamental Resolution, the maximum and only possible speed is 1.

The reaction speed of the imaginary cell (composed of two physical  cells) at Resolution R(2) will be two cells in two turns. This is because, at R(2), the Existence must traverse two physical  cells in order to traverse one imaginary cell. At this resolution, the maximal possible speed will still be 1, but it will allow also a speed of 0.5, in a situation in which the Existence enters one of the cells and remains there for one turn due to an obstruction in the second cell.

In the same manner, the reaction speed of the imaginary cell at resolution R(10) will be 10 cells in 10 turns. Also, at resolution R(10), the maximal speed will be 1, but speeds that constitute a tenth of this speed will also be possible, such as the speed 0.1 (in the situation where there is a delay due to an obstruction in 9 cells) or a speed of 0.7 (in the situation where there is a delay due to an obstruction in 3 of the cells).
For sake of convenience, and in order that the speeds will not be expressed as fractions, Binary Physics arbitrarily states that the maximal speed at any resolution is equal in value to the level of the resolution. For example, at R(10), we will state that the maximal possible speed will be 10, and thus there are 10 different possible speeds (depending on the number of obstructed cells within the imaginary cell in states of obstruction)—1,2,3,4,5,6,7,8,9,10…

There is no problem with this statement, since there is no significance to a value of the maximal possible speed, except that it constitutes the reference point for lower speeds….

At the resolution of human systems R(h), the maximal speed in the state where there is no obstruction (there is pure energy) is c, the speed of light. If we translate this into Binary Physics, then the maximal possible speed is equal to the resolution, and thus R(c) = R(h). c is the maximal speed in which an imaginay particle can travel from one imaginary cell to another at this resolution. One imaginary cell at resolution R(h), is composed of a huge quantity of physical cells at the Fundamental Resolution. Therefore, due to obstructions (among the physical cells that contain the imaginary cell), many levels of speeds are possible that are lower than the maximal possible speed, but it is understood that there is no possibility of moving at a speed higher than this speed.
According to the Sixth Law (Time Symmetry of Space-Depth), any movement of Existence in space requires that there also be a simultaneous movement in depth. Therefore, the number of turns that will transpire in the passage of the particle from one imaginary cell to another, must also be c.

At resolution R(h), the following formula results:

Change (Energy) = The number of free Existences * c (the speed of reaction time of the imaginary cell in space in terms of R(h))*c (the speed of reaction time of the imaginary cell in depth in terms of R(h))

Change (energy) = Exfr*c2
Clarification: I say "one change in space in every turn", even though there are three spatial dimensions. This is because that, according to our private Existence Algorithm, in every turn, Existence can move to advance one cell in depth and to advance only one cell in space (regardless of the direction). In one turn, there are not three changes in the spatial dimensions, but only one change. 
An example of calculating the system that contains an obstruction (mass) alongside change:

Total Number of Existences (free and obstructed): 6 Ex

Resolution: R(10) (that is, each imaginary cell contains 10 cells in space and 10 turns (cells) in depth)

Change (Energy) that is measured within the system = 200 ch

What is the obstruction—the number of obstructed Existences (mass)--of the system?
First, we are required to calculate the maximal potential for change of the system if it were without obstructions (mass), that is, if there was pure change (pure energy). We will do this as we saw in the previous example. 

6 Ex*10*10 = 600 ch
The change measured according to the data is 200 ch. Since every Existence that doesn’t move is obstructed, the quantity of obstructions that were in the system is 400 ob.

In order to identify the number of Existences that were obstructed and constitute the mass, we must divide the number of obstructions by the number of cells in depth at the given resolution (10), and then to divide again by the number of turns (cells) in depth (10). Thus we will receive 4 Exob. That is, the obstruction (mass) of 4 Existences in the system. The mass is the number of obstructed Existences in the system (internal obstructions) at the given resolution.

We have seen that if we do not want to measure the quantity of obstructions directly, it is possible to calculate them from the difference between the maximum potential for change (that is derived from the quantity of changes in the system in the state in which there are no obstructions), and the quantity of changes that were actually measured.

That is, according to the number of changes (energy) and the number of Existences in the system, we can know what its mass is.

The complete conversion of obstruction (mass) to change (energy):
Obstruction (mass) = 4 Exob
Resolution = R(10) (that is, each imaginary cell contains 10 spatial cells and 10 cells in depth (10 turns)).

The number of turns in depth that contains the time unit of the observer: 10 tu

The number of cells that contains the measured unit of time: 10 cl

(Explanation: The Sixth Law—the Symmetry of Time and Space-Depth—requires that at resolution 10 each imaginary cell will essentially be a contraction of 10 cells in depth and 10 cells in space.)

Change (energy) = Obstruction (mass) * reaction time of the imaginary cell in space * the speed of the reaction time of the imaginary cell in depth

Change (energy) = Exob*10*10 = 400 ch

In fact, when the obstruction is removed, all of the obstructed Existences are converted to free Existence and start to move. At the Fundamental Resolution, every free Existence moves one cell per turn. At Resolution R(10), every Existence moves in each turn 10 cells, and in 10 turns, which are one imaginary turn at this resolution, it performs 100 changes.

As we have seen previously, at resolution R(h), the following formula results:

Change (energy) = Number of obstructed Existences*c (the speed of the reaction time of the imaginary cell in space in terms of R(h))*c (the speed of the reaction time of the imaginary cell in depth in terms of R(h))

Change (energy) = Exob*c2
And in fact we have received the famous equation of Einstein:
E = mc2

